
Appendix

Information matrix for computing unconstrained MLE.

Differentiating l1(π1, · · · , πg; ρ) with respect to πi, i = 1, 2, . . . , g and ρ yields

∂2l1
∂πi

=
−2πi

2ρ2 + 4πi
2ρ− 2πi

2 + 2πiρ
2 − 6πiρ+ 4πi − ρ2 + 2ρ− 2

(πi − 1)
2
(πiρ− πi + 1)

2 m0i

+
−2πi

2 + 2πi − 1

π2
i (πi − 1)2

m1i +
−2πi

2ρ2 + 4πi
2ρ− 2πi

2 + 2πiρ
2 − 2πiρ− ρ2

πi
2(πi + ρ− πiρ)

2 m2i,

∂2l1
∂πi∂ρ

=
1

(πi ρ− πi + 1)
2m0i −

1

(πi + ρ− πi ρ)
2m2i, i = 1, 2, . . . , g,

∂2l1
∂πi∂πj

= 0, i ̸= j, j = 1, 2, . . . , g,

∂2l1
∂ρ2

= −
g∑

i=1

[
πi

2

(πi ρ− πi + 1)
2m0i +

1

(ρ− 1)
2m1i +

(πi − 1)
2

(πi − πiρ+ ρ)
2m2i]

The Fisher information matrix is given by

I (π1, π2, . . . , πg, ρ) =


I1,1 I1,2 · · · 0 I1,g+1

I2,1 I2,2 · · · 0 I2,g+1

...
...

. . .
...

...
Ig,1 Ig,2 · · · Ig,g Ig,g+1

Ig+1,1 Ig+1,2 · · · Ig+1,g Ig+1,g+1

 ,

Ii,i = E(−∂2l1
∂πi

) = −
mi

(
−4πi

2 ρ2 + 6πi
2 ρ− 2πi

2 + 4πi ρ
2 − 6πi ρ+ 2πi − ρ2 + 2 ρ

)
πi (πi − 1) (−πi

2 ρ2 + 2πi
2 ρ− πi

2 + πi ρ2 − 2πi ρ+ πi + ρ)

Ii,g+1 = E(− ∂2l1
∂πi∂ρ

) =
mi ρ (2πi − 1)

−πi
2 ρ2 + 2πi

2 ρ− πi
2 + πi ρ2 − 2πi ρ+ πi + ρ

, i = 1, 2, . . . , g

Ii,j = Ij,i = E(− ∂2l1
∂πi∂πj

) = 0, i ̸= j, j = 1, 2, . . . , g,

Ig+1,g+1 = E(−∂2l1
∂ρ2

) =

g∑
i=1

mi πi (πi − 1) (ρ+ 1)

(ρ− 1)(πi ρ− πi + 1)(πi + ρ− πiρ)
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Information matrix for Score statistics.

Differentiating l2(δ2, π1, π3, · · · , πg; ρ) with respect to πi, i = 3, . . . , g and ρ yields

∂2l2
∂δ22

=
−π1

2
(
2 δ2

2 π1
2 ρ2 − 4 δ2

2 π1
2 ρ+ 2 δ2

2 π1
2 − 2 δ2 π1 ρ

2 + 6 δ2 π1 ρ− 4 δ2 π1

)
(δ2 π1 − 1)

2
(δ2 π1 ρ− δ2 π1 + 1)

2 m02

+
−π1

2
(
ρ2 − 2 ρ+ 2

)
(δ2 π1 − 1)

2
(δ2 π1 ρ− δ2 π1 + 1)

2m02

− 2 δ2
2 π1

2 − 2 δ2 π1 + 1

δ2
2 (δ2 π1 − 1)

2 m12

− 2 δ2
2 π1

2 ρ2 − 4 δ2
2 π1

2 ρ+ 2 δ2
2 π1

2 − 2 δ2 π1 ρ
2 + 2 δ2 π1 ρ+ ρ2

δ2
2 (ρ+ δ2 π1 − δ2 π1 ρ)

2 m22,

∂2l2
∂π1∂δ2

=
∂2l2
∂δ∂π1

= −δ2
2 π1

2 ρ2 − 3 δ2
2 π1

2 ρ+ 2 δ2
2 π1

2 + 4 δ2 π1 ρ− 4 δ2 π1 − ρ+ 2

(δ2 π1 − 1)
2
(δ2 π1 ρ− δ2 π1 + 1)

2 m02

− 1

(δ2 π1 − 1)
2m12 −

ρ (ρ− 1)

(ρ+ δ2 π1 − δ2 π1 ρ)
2m22,

∂2l2
∂πi∂δ2

= 0, i = 3, . . . , g

∂2l2
∂ρ∂δ2

=
∂2l2
∂δ2∂ρ

=
π1

(δ2 π1 ρ− δ2 π1 + 1)
2m02 +

π1
4 (δ2 π1 − 1) (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ)

δ2
m22

− 2 δ2 π1 − 1

δ2 (ρ+ δ2 π1 − δ2 π1 ρ)
m22 − δ2 π1 ρ (δ2 π1 − 1)

2
m22,

∂2l2
∂π2

1

= −2π1
2 ρ2 − 4π1

2 ρ+ 2π1
2 − 2π1 ρ

2 + 6π1 ρ− 4π1 + ρ2 − 2 ρ+ 2

(π1 − 1)
2
(π1 ρ− π1 + 1)

2 m01

− 2π1
2 − 2π1 + 1

π1
2 (π1 − 1)

2 m11 −
2π1

2 ρ2 − 4π1
2 ρ+ 2π1

2 − 2π1 ρ
2 + 2π1 ρ+ ρ2

π1
2 (π1 + ρ− π1 ρ)

2 m21

−
δ2

2
(
2 δ2

2 π1
2 ρ2 − 4 δ2

2 π1
2 ρ+ 2 δ2

2 π1
2 − 2 δ2 π1 ρ

2 + 6 δ2 π1 ρ− 4 δ2 π1

)
(δ2 π1 − 1)

2
(δ2 π1 ρ− δ2 π1 + 1)

2 m02

−
δ2

2
(
ρ2 − 2 ρ+ 2

)
(δ2 π1 − 1)

2
(δ2 π1 ρ− δ2 π1 + 1)

2m02

− 2 δ2
2 π1

2 − 2 δ2 π1 + 1

π1
2 (δ2 π1 − 1)

2 m12

− 2 δ2
2 π1

2 ρ2 − 4 δ2
2 π1

2 ρ+ 2 δ2
2 π1

2 − 2 δ2 π1 ρ
2 + 2 δ2 π1 ρ+ ρ2

π1
2 (ρ+ δ2 π1 − δ2 π1 ρ)

2 m22,

∂2l2
∂π1∂πi

=
∂2l2

∂πi∂π1
0, i = 3, . . . , g
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∂2l2
∂ρ∂π1

=
∂2l2
∂π1∂ρ

=
1

(π1 ρ− π1 + 1)
2m01 −

2π1 − 1

π1
2 − π1 ρ (π1 − 1)

m21

− (π1 − 1) (π1 ρ− 2π1 + ρ(π1 − 1))

π1
m21 − π1 ρ (π1 − 1)

2
m21

+
δ2

(δ2 π1 ρ− δ2 π1 + 1)
2m02 + π1

3(δ2 π1 − 1) (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ)m22

− 2 δ2 π1 − 1

π1 (ρ+ δ2 π1 − δ2 π1 ρ)
m22 − δ2 π1 ρ (δ2 π1 − 1)

2
m22,

∂2l2
∂π2

i

= −2πi
2 ρ2 − 4πi

2 ρ+ 2πi
2 − 2πi ρ

2 + 6πi ρ− 4πi + ρ2 − 2 ρ+ 2

(πi − 1)
2
(πi ρ− πi + 1)

2 m0i

− 2πi
2 − 2πi + 1

πi
2 (πi − 1)

2 m1i −
2 ρ− 2

πi
2 − πi ρ (πi − 1)

m2i

− (πi ρ− 2πi + ρ (πi − 1))
2

πi
2

m2i − πi ρ (πi − 1)
2
m2i, i = 3, . . . , g

∂2l2
∂πi∂ρ

=
∂2l2
∂ρ∂πi

=
1

(πi ρ− πi + 1)
2m0i −

2πi − 1

πi
2 − πi ρ (πi − 1)

m2i

− (πi − 1) (πi ρ− 2πi + ρ (πi − 1))

πi
m2i − πi ρ (πi − 1)

2
m2i, i = 3, . . . , g

∂2l2
∂ρ2

= − m01π1
2

(π1 ρ− π1 + 1)
2 − m11

(ρ− 1)
2 − m21 π1

2 (π1 − 1)
2

(π1
2 − π1 ρ (π1 − 1))

2

− δ2
2 m02 π1

2

(δ2 π1 ρ− δ2 π1 + 1)
2 − m12

(ρ− 1)
2 − δ2

2 m22 π1
2 (δ2 π1 − 1)

2(
δ2

2 π1
2 − δ2 π1 ρ (δ2 π1 − 1)

)2
−

g∑
i=3

[
m0i πi

2

(πi ρ− πi + 1)
2 +

m1i

(ρ− 1)
2 +

m2i πi
2 (πi − 1)

2

(πi
2 − πi ρ (πi − 1))

2 ],

The Fisher information matrix is given by

I (δ2, π1, πi, . . . , πg, ρ) =


I1,1 I1,2 0 · · · I1,g+1

I1,2 I2,2 0 · · · I2,g+1

0 0 Ii,i · · · Ii,g+1

...
...

...
. . .

...
0 0 Ii,g+1 · · · Ig+1,g+1

 ,
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I1,1 = E(−∂2l2
∂δ22

) = −2m2 π1
2 (ρ− 1) +

m2 π1
2 (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ− 2)

δ2 π1 − 1

+
2m2 π1 (2 δ2 π1 − 1) (ρ− 1)

δ2
+

m2 π1
2 (ρ− 1) (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ− 2)

δ2 π1 ρ− δ2 π1 + 1

+
m2 (δ2 π1

2 − δ2 π1 ρ (δ2 π1 − 1)) (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ)
2

δ2
2 (ρ+ δ2 π1 − δ2 π1 ρ)

2

+
2m2 π1

2 (2 δ2 π1 − 1) (ρ− 1)

δ2 π1 − 1
+

2m2 π1 (δ2 π1
2 − δ2 π1 ρ (δ2 π1 − 1)) (ρ− 1)

δ2 (ρ+ δ2 π1 − δ2 π1 ρ)
,

I1,2 = E(− ∂2l2
∂π1∂δ2

) = −m2 (ρ+ 4 δ2 π1 − 4 δ2 π1 ρ− 2) + 2m2 (2 δ2 π1 − 1) (ρ− 1)

− 2m2 (4 δ2 π1 − 1) (ρ− 1) +
δ2 m2 π1 (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ− 2)

δ2 π1 − 1

− m2 (δ2 π1
2 − δ2 π1 ρ (δ2 π1 − 1)) (ρ+ 4 δ2 π1 − 4 δ2 π1 ρ)

δ2 π1 (ρ+ δ2 π1 − δ2 π1 ρ)

+
m2 (δ2 π1

2 − δ2 π1 ρ (δ2 π1 − 1)) (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ)
2

δ2 π1 (ρ+ δ2 π1 − δ2 π1 ρ)
2

+
δ2 m2 π1 (ρ− 1) (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ− 2)

δ2 π1 ρ− δ2 π1 + 1
+

2 δ2 m2 π1 (2 δ2 π1 − 1) (ρ− 1)

δ2 π1 − 1
,

I1,i = E(− ∂2l2
∂πi∂δ2

) = 0, i = 3, . . . , g

I1,g+1 = E(− ∂2l2
∂ρ∂δ2

) =
m2 π1

(
−δ2

3 π1
3 ρ+ δ2

3 π1
3 + δ2

2 π1
3 ρ− δ2

2 π1
3 + 2 δ2

2 π1
2 ρ2

)
(δ2 π1 ρ− δ2 π1 + 1) (ρ+ δ2 π1 − δ2 π1 ρ)

2

m2 π1

(
2 δ2

2 π1
2 ρ− δ2

2 π1
2 + δ2 π1

2 + 3 δ2 π1 ρ
2 − δ2 π1 ρ− ρ2

)
(δ2 π1 ρ− δ2 π1 + 1) (ρ+ δ2 π1 − δ2 π1 ρ)

2 ,

I2,2 = E(−∂2l2
∂π2

1

) = (−3 ρ+
(2π1 + ρ− 2π1 ρ− 2)

π1 − 1
+

(2π1 + ρ− 2π1 ρ)
2

π1
+ π1 ρ

2)m1

+ (
(4π1 − 2) (ρ− 1)

π1
+

(4π1 − 2) (ρ− 1)

π1 − 1
+

π1 (2 ρ− 2)

π1 + ρ− π1 ρ
)m1

+ (
(ρ− 1)(2π1 + ρ− 2π1 ρ− 2)

π1 ρ− π1 + 1
+ 2)m1 − 2 δ2

2 (ρ− 1)m2

+ (
δ2

2 (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ− 2)

δ2 π1 − 1
+

δ2 (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ)
2

(ρ+ δ2 π1 − δ2 π1 ρ)
2 )m2

+
δ2

2 (ρ− 1) (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ− 2)

δ2 π1 ρ− δ2 π1 + 1
m2

+ (
2 δ2

2 π1 (ρ− 1)

(ρ+ δ2 π1 − δ2 π1 ρ)
+

2 δ2
2 (2 δ2 π1 − 1) (ρ− 1)

δ2 π1 − 1
+

2 δ2 (2 δ2 π1 − 1) (ρ− 1)

π1
)m2,
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I2,i = E(− ∂2l2
∂π1∂πi

) = 0, i = 3, . . . , g

I2,g+1 = E(− ∂2l2
∂ρ∂π1

) = (2π1 +
π1 (2π1 + ρ− 2π1 ρ− 2)

π1 ρ− π1 + 1
+

π1 (2π1 − 1)

(π1 + ρ− π1 ρ)
)m1

− (
π1 (π1 − 1) (2π1 + ρ− 2π1 ρ)

(π1 + ρ− π1 ρ)
2 + 1)m1 + (δ2 (2 δ2 π1 − 1)

δ2 π1 (2 δ2 π1 − 1)

(ρ+ δ2 π1 − δ2 π1 ρ)
)m2

+ (
δ2

2 π1 (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ− 2)

δ2 π1 ρ− δ2 π1 + 1
− δ2 π1 (δ2 π1 − 1) (ρ+ 2 δ2 π1 − 2 δ2 π1 ρ)

(ρ+ δ2 π1 − δ2 π1 ρ)
2 )m2,

Ii,i = E(−∂2l2
∂π2

i

) =
4πi

2 ρ2 − 6πi
2 ρ+ 2πi

2 − 4πi ρ
2 + 6πi ρ− 2πi + ρ2 − 2 ρ

πi (πi − 1) (−πi
2 ρ2 + 2πi

2 ρ− πi
2 + πi ρ2 − 2πi ρ+ πi + ρ)

,

Ii,g+1 = E(− ∂2l2
∂πi∂ρ

) =
ρ (2πi − 1)

−πi
2 ρ2 + 2πi

2 ρ− πi
2 + πi ρ2 − 2πi ρ+ πi + ρ

,

Ig+1,g+1 = E(−∂2l2
∂ρ2

) = −m1 π1
2 (π1 − 1)

π1 ρ− π1 + 1
+

π1
2
(
m1 π1

2 − π1 ρ (π1 − 1)
)
(π1 − 1)

2

(π1
2 − π1 ρ (π1 − 1))

2

+
2m1 π1 (π1 − 1)

ρ− 1
+

2mi πi (πi − 1)

ρ− 1
+

2 δ2 m2 π1 (δ2 π1 − 1)

ρ− 1

+
δ2

2 π1
2 (δ2 π1 − 1)

2 (
δ2 m2 π1

2 − (δ2 π1 ρ (δ2 π1 − 1))
)(

δ2
2 π1

2 − (δ2 π1 ρ (δ2 π1 − 1))
)2 − δ2

2 m2 π1
2 (δ2 π1 − 1)

δ2 π1 ρ− δ2 π1 + 1

−
g∑

i=3

[
mi πi

2 (πi − 1)

πi ρ− πi + 1
− πi (mi πi − ρ (πi − 1)) (πi − 1)

2

(πi − ρ (πi − 1))
2 ],
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